Name: Score:
- @dentifying Solutiong =
Choose the correct solution that best describes each inequality.
4 N\
1) 44+2x>18 2) 6x-3=>21
a) (-eo,-7) b) [7, ) a) [4, ) b) (4, )
Q) (-o0, 7] d) (7,) Q) (-o0,4] d) (-e0,4)
. 2N
-
3) 3x-21=6
Q) [9 ) d) (11, )
. .
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5 = 4+1<9
2
a) (16, ) Not 3 member? b) (-ee, 25]
O [16, ) Please sign up to d) (25, )
\. 93in complete
4ccess,
-
7) 9x+8<44
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a) (4, ) b) (-eo, 48)
O (o0, 4) d) [-4, ) k Q) (48, o) d) [48 )
. J
4 12 N\
9) X+3 <7 10) 10x-5>15
a) (-0, 9] b) [9, ) a) (o, 2] b) [2,)
Q) (-=,9) d) [-9, ) Q (2,) d) [-2, )
. 2N
-
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